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1) nawn in NTH Noon
a) 92179015 was 6 nmR wide, the xn was 6 ninx wide and the xn 5nm> was 5 ninx wide
2) moon — avw of °™

a) the mwn deals with the o°kn at the middle level in the following 1% — the wide
boxes in the 71°¥ represent one ;& and the narrow boxes represent %2 nnx

5.5,5,4.58n 500 '7,0119°0 Y ,7v9ya T RN 2 6.5,6.,5.55>15m>
mnnn

1) x"wann

a) the mwn prefers to deal with o°xn at the middle level because — as reflected in the
7% —the 92°7 %m> and the xni3 501> at the middle level are ny 5w niak without
fractions only at the middle level

[ANT XN T'N2 2 P70 UTpman 'RNT X0

JINTS TN AONT TINT NUHIR TV "D W 71 "D MTH NOOR2 JNT KM 7N
SP92977 731957 BY 55DP2 1Y '52 JINT RIS DX P 7317 PwhT anwwn by "1
TINMNT POROTT RIP2Y W 2NN 7077 FINANT NOXN BY unbT ynwn 5''RY bovraw
T RIT 7217 PIWHT WADD 12T 7MW WA %7 TURDT YRR amT TN wen

12"YTY NYNAR N TIINMNT DY PR 7217 7ON NO0RT RUTIS nua

1) mwninmm
a) " T2M 77 7an0 Annnnn RN
2) mooin as explained by x"wAmn
a) Xwp
i) 721 usually means 179%1 or floor
ii) since the nnnnn xn was 5 why would it have a floor of 6



b) y1rn

i) Here 7217 means an extension — and it refers to the ceiling of i3nnn &n which
was 5 and was part of the floor of 7112°n &n which was 6

ii) the floor of mn>°n &n extended over and beyond the 5 width of 73nnn &n

Y NN T'NA A 70 UTnn IRNT X0

SINT N7 5P 1D PWRD N9aR PIBT T W INNAMNT POXY 0% 1w noaaT 7N
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TRPY 15 RPN 57792 577929 N9 NP MpT R2OHT answ 30 WD KD 2''awn han vl
2ITOIDRR 2907 o DY RDR 120D R '0INTR ORI 10 M2 A1 ;79ab 1NaTh awh

2H''PY "D N9 O 19 77927 RPN 1D 91 779920 2300 7707 XY 2''awn 502 ban

20 7T

NO'NT NI n"T Dn"awn 'N 770 2N AT X120

RY 191 15 2mwnT 3 T ARRY N2 RDINT K27 ;71''72 2''awmpa [R Ty 20 17
TITT QY507 92 NS 90D 077 vR1 Do 1D PIOIR TAID 2UR IR TIITN "D 10
12P% BaR IR RATR 1D 1D ans RYY ST TAID PYAR XM anonb B''m7s 2w

SR 'oINT 2N R 'TASY RO T R PRT 2" awn ans

1) xma
a) "2977 "N — %P 710 ROKR IR KD LR TR XM TR TR XN
b) °OR 271 RITD 27— 7N WK 720 AP
2) Twnn of the Xy —"27 771"
a) First X073 mentioned by 2"awA as 727 by ®"wann ("0°1907 92 noa')

707 77971 019 ¥ [[12] RO°A T WA 1IN T8A RIPRT KT 27 77
— 27912 77 XM AR PYAYY JAIRT 8D w32 2n1] — [27vna] KO
[o17 8D "

3) o"awn -2 X0

— RO} 717 A7) 217 Q8NY RO°X TN NWAYY 1R XN RIPRT XD 27 770
[°2177 R? 77930 — 27922 M2 XM 7712 PR J2IRD %A 0wa 17 2nY]



4) Twnnof o"awn

a) The second xoa is preferable because the xana typically uses the name ">1%"
before it uses the name "amm"

5) Further qwni of o"awn
a) ToRw
i)  Why is it that 21 says %P 7310 XX 739 X7 in 277 "non
b) nawn

2N2Y NIW TAID 27V XN TN 7 XA PIVAYI 1R 11X 971 277 Pnna
21 1 %A PR 299 %A T 10

6) X"wann
a) 0"awnin his 72wn uses the name "77i" instead of the name "»%" even though he
prefers the second xoi that uses the name "1%"

M7 "7 amTn 2T "2 P70 n URAT XIo

TR TR TIWAWY JAINT R AR 1D 907 RPN ORP KUK 1D 2anonb B 172 'on
I TR TIAY J2INT NRIAT POW K27 MM 3R Doy "0 2w ppap R BERY 1
QYR TR TINAD T TIV R RDW 0D I TAID 7ART 27 77 2OpH 20T A" 702
RDR YR 2% XD 2P N WRD TR TIPT 20 702 7ITINT RPVTIR ORPT RNOR 7T KON

TP'YTY AT TR IWRRY J2IRTT A" 7ea

1) nn7pn — 297 "nn

qXP TN P q¥1 721%7 12 and 277 nn
XN PV 1

27y

9% MK P 12NN
92191 YRR M
%72 MAR "1 TR
2N

2) Mmoo — v w of an 1

a) "277"nn 12 Pr7" — From 297 “n%n that %P 7310 898 730 X9 there is the p1»7 that
112 would take 717%:7 7230 and not 1xpn 7210 if the 27yna ypap is owned half by »15
and the rest is 27w ypap and the “uw lists 12387 ¥ and 1wiaw 2372 in nam and only
*12 73¥n in 27vn because there is no other 2¥7 in 27vn

8P TN T3P q%¥7 729877 20D Q%12 MIAR P IR 277 5o
RreaRAiaiARemira) 9011 YRR
27vn XN MBR 1 TR
2w
TRTTAID IR | TWRRM 12187 W ans b2 JwRRn 32180 ™ P
22 N9 AT ER 23722 DR "1 TN 297 nbon
29vn NIR '3 09 e
NIAR "9 39yns
29w ypap anyna

b) "an a7 " is a w2 of the 19 where "297 “n%n 1 p17" doesn’t apply and the np1?
takes 710 wx1 715 and not 7RI 7230 — namely where in 29yn there is no a2 w ypap
and instead there are *1% 7xn and 77177° and the "vw doesn’t mention 37177° J¥»
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3) x"wonn
a) Nwp

i) Why doesn’t on 121 set out the "297 n%nn P17" more simply where 1218
owns all of 71 73 the same as in 277 "n>» where 723187 owns all of fam q¥n

AP TAD AR

987 12IX7 % 200
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P1TY RNMDT

b) y1rn

i) The 1w of 27 779m1 (where the 717 doesn’t apply) is applicable only where
1287 and wnw share nam 2¥n — because if 7 q¥n belongs only to 12187 the
result would be the same as in 277 "n%°» where the np1» takes 2¥p7 7210

i) onran prefers to set out the same 19 for the pr7

DNA '"D A" TN

PP 5o N0 ann® TIZ ONER O''RT B MY o ATy AR " 2R P 7'
32 DR MRT OK 2% 1On2 2R3 PRDT ROVAR 7 ORP ORRR Y''5% 170 wpnT
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1) 'R an7pn — Ry of "pan pmn" as explained by o"awn



DARY 772 DAR M7 "2 1210 110WH W SI%A 2137 XN 1207 37w 07
9% % 2nonY IR 172 AR 719X2 AR MW "2 NYaw 1OWH W 27wn2
DM Y2AR O 1D PN VAR %M 1PN 110 12K

2) RX—IPON — N ORA PR 17 ROVIR
3) mooin

a) "I - OR3P means "o aar MM nw XK 17 %0 8L

b) xwp to °"1 —the X7mx on 170 P says that the 121 needs to set out all four N~
4) Twnn of the &

a) °ox 27 says that if nymn 1% qxn the n1% is anp only a o%n in the form of a n"™n
along the three nimn

5) x"wonn

a) Xwp to >" — for >ox 21 who says that a np1? is nnp only a o%n even where 'x q¥n
mmn — there should be no y2°n for axa 15 where the 75 is 2%» only nyma 2

220 71
X7 912" n"Tn"awn

TXORR TN RITI2 K27 MARPT ORARY "D KD 921 A" "2 2" awana [2 7Y 20 07
NP KD 779097 12 Y RDMWT KON TIAR KD P92 901 3" D B''op "D IRp WA
TH'"PY RITIT2 N2 ARPT INBN IR KDY N7

1) xm

19 X7 R OYI27 XN OWOHW XA 23w XA NWRI RN 1D ¥R RNIYT — XA
3P ¥921n HaR ¥9an K27 XOR [1p RDT] 190R R — 2927 qxnn vIn 9o 1p

'R XD — K27 Jwnn
X777 X22°7 99U RDORT KoK [[11p RDT] 179K R 01 920 K7 0
'2 XD — K217 TwnT
ROPY77 K227 "9¥ KT R3WRF KOXK [139 ®77] 170K R 11 ¥92a0 85 00
2) o"awnas explained by &"wAnn

a) The first X0 is correct because it refers to what 21 said &>772 for >¥°27 3n —
namely that m1p X% — while the case where m1p for *y°27 1% is a P17 from x21

I an a"Tn"avwn

7977 112 92 2NSW IMIRY IR T30 T2 TR ONR N2 1WA A M " m an '
RUT72 DAR TR D020 WMIDK 1797 RYTIAT W00 PIRT 2oy ATwn ¥han "o whnn
792 2IN5W 1202 OYAT KUK RY2T 7TNTT RADD wHD w07 wMDR T PR TR RAT
2ONTT MR RY YPApaT BOYh ans a2'awnanm R TR X7 MMPOWD MR

25" P @M WITIND VWA 2T ANDT ROT ARY 2WOITIN



1)

2)

3)

fyqnlab)
a) 127 owns half of a n7w
i) Ifhe says “I sell the halfI own in the 772" he sells his whole half

il) Ifhe says “I sell half of the 77w that I own” he sells only half of his half, i.e., a
quarter

b) This isalso obvious from n1vw that were actually filed 2n °2
o"awn

a) nmow filed 7n °a of the first type (“I sell the half T own in the 772”") ended by
saying “and 1287 bought half of the 77w from pw»w for such and such money”

b) nymow filed with 17 02 of the second type (“I sell half of the 77w that I own”)
ended by saying “and 72181 bought one quarter of the n7w”

X"wIn
a) Note that

i) for nyww of the first type — “and 72187 bought half of the 77w from wnw”
proves nothing since the meaning might be 121%3 bought half of what ywnw
owned — and that’s why it’s necessary that the “vw set out the purchase price
to show (by way of o°¥>71» o°»7:7) that the whole half was sold

ii) but for n1vw of the second type — the ending “and 72387 bought one quarter of
the 77w is clear enough and there’s no need to set out the purchase price

b) xwp

i) 0"awnsays at :xo 77 that 2°9>7m 077 doesn’t apply for mypap because X
MYPaPD IRNR

c) N

i) Still o»7 are o°v>*7m where o7 are written in a “vw to make clear whether a
half or a quarter was sold

NO'A 'NA7 "Nn'X n"T1Nn

"D 5oy 1o RPDORT 7' YIANT 2R MPDT AN AR 11D RO INTY MR 772 'on
SRS KD 227 2"YT IpYone 90 R 2 KDY PImIn tN O 30 XpoonT
Y IR TYRNT RIS WTRD2Y 201 9D DU WORY NN B 2'RT PR RITR

1)

rAR b g
:7oP 77 Xmx as explained by msoin and X"wAan

a) A "1 takesa 7m22a porin o°021 in which his father was p1rn but not in 02021 that
were 2% "X

b) a2 owed to 2k by a third person counts as »1 — but if the =152 himself owed a
211 to his father the 777 is 12171 because the ppo makes the 2152 and his vws nx
each count as a prn of half and a x>xw of the other half



2) R"wann
a) Nwp

i) Why doesn’t the 7122 count as a prmn for the whole because he holds the myn
that he owed his father

b) yn

i) If the 7122 were to be 3w that he is prmn he would in effect say that his father
wasn’t v and that the 7152 has no nmoa ponatall

A0 T

NN 'Kk " TN

B oy 15 AT DAR NI IR 39T NPT IMIT RN "0 nnD PR 7T [R TN A0 07
N7 7an% 1R D'TORT NI IR M9 NOPIRN WMITT R MY D I 2'pT 30 B
7Y Y NI INTY WD WO A9 NIYO2 RITT 2T NIYO2IR DY Tanm Dapnh X2° 'Ry
DIYI2TR AN WD R 57 ISR WRNT AN TIRONTT MARD D779 12190 127 NOXnn

22T 21957 NOPhanh PR RR 1190 AN

1) xp»2
a) If 120 says give pynw “a part of what | have in this 212”

b) om0 who holds that "ppin pooa Sumn " says that nwnw takes not less than a
7127 NPYean

2) moown — k2 of the vw of oM

a) There’s a poo whether 72187 intended to give 1wnw as a little as a Xyw 95 or as
much as 127 °3n

b) xwp
i) How could 32181 have intended as little as a xw 9>
c) N

i) X17W 2> means a 2177 n°y°a0 — as a result Pwnw takes 2ax a0 R 290 noya"
"I VIIY WO IR RO

3) R"wann — X2 of "1 0mm% wn R RNT AR N IR 290 noyeaa”
a) moown had this xwp

i) 7wnw is &M entitled to take 2127 n°v°a1 — so ypYon ought to apply only to the
amount by which 21271 °xi is more than 3197 n°y>29

ii) It follows that 1wnw ought to take 1127 n>y27 plus half of a 2197 n°y>27 based
on the following calculation

Let R be 2% n°y»21 — let B mean the entire 112 — and let X be the p5n that
1Wwnw takes

10



It follows that X =R +1/2(B/2 - R) = R+B/4 - R/2 = R/2 +B/4

b) And msoin answers that in fact pynw gets 27 n°yan — with a "~n»" of half a
2971 nvoan — the X3 doesn’t mention the 7nY because it’s less than a 2177 Ny an

INNXI 2"T NIDoIn

DR H"o 12 NP RO 11D WIRW 279 777 21 BRT "D RN 'Y

120 7T
INn 'R0 " T 0"awn 'N 7N mrT 20T X0

"7 KPR IR 790 03P N7 KD RPANDMT 1D INM ORT 7'72 2"awnna [2 Ty A0 nT]
27 MRPT WIAT IND RO UPIT PIOT ARINT WIAT 0P 1D PO ARIIID 01 B XY
TP 2"ORT "3 RUPTR 2D MRT TV 1017 W KDY 37 AW B RAn0® W7 70ar
BRY 792 29 RO M1 0 wpn Ry B RPNOR2 1P RY 7''0 IRY K55 29 D7

1)

2)

3)

4)

IP'TY R KDY RVITT DY POIT NRITNT 19T RO ¥PAT PINT
X023 — 17 2977 Xn as explained by o"awn at 1xn & A"

a) Ifaomsellsa "xnnoa" n°a — without saying "&mM xpmy" — the 931 is 9w for
himself a ax that has a ipyn that’s o°nov > max and the 25w can be 1101 Xoxn" and
97K 72

b) Ifaowmsellsa nvaand is am> "xm xpniw" the o7 is anp the a3 and the 1om
can’t be 1°1°T X°X11 Or 7182 712

qwnn of the xama
a) xomn of woph w1 based on a Xxn»12
"AXYY 33 W — DWW A0 RVPTIW NN DY 2N 002 1oma"
b) muww of 7221 27 and X55 27 as understood by the x1nxk M of the X
i) 7aran
(1) nan %y gives the 1o the right to be 11 X°xn
i) xoo 2"
(1) nan %y gives the 7o the right to be 97182 nna
qwni of the X
a) Xwpto n7an

i) What does the ni» %y achieve for &o5 27 if °n>7 27 is correct that x»noa the 1omn
IS XM &pmw 2w not only to retain the 23 but also to be 112 on the ax

R"wnn
a) Xwp

11



b)

i) Why doesn’t the X3 ask the same xwp for 721 21 from °»>7 217 — What does
the nan %y achieve for 1°a1 21 if °»°7 27 is correct that x»noa the 10w is 1 wn
X117 Rprw not only to retain the xx but also to be 111 &%

7N
i) °n>727can explain for 7°21 21 that

(1) xnnoa the 751 retains the right to be 111 X°%1 on the 2x but not 7315 the =xn
that’s the nmw of the np1»

(2) If the 7> adds "nan 93" he retains the right to be 111 X% even 7115 the
n°27 730 that’s the mwA of the np»

.10 Q7T

NNVT X270 'N1ATTN 2 P70 MrT 20T X210

RP K97 WIDY HRIAW 10279 PRT 1 10 RN 70 NI 772 '0In [R Ty 7o 07
NP2 19 2nDR0Y 91 KD RANDT 9757 27 91272 oS 2" awn "ew an v By "o
J9RPT DIPD DaAR 7170 KD YRR ANTR NT20 PRT 200 1997 A3 7199 1R N2
anD X2 MR KON ORPT 3R N7 30 9D 2317727 120 NI RAnenT 70T M e

22T DI 'oINT 1answ s

1) First an7pn — R of »°7 27 as explained by o"aw= at 1xn *&n "7

2)

3)

a)

b)

If a 701 sells a "&nnoa" n°a — without saying "&mm &pmw" — the 95w is 1w for
himself a 23 that has a npyn that’s o°nov > max and the 921 may be "y rr R and
97182 7302

If a aom sellsa nva and is 2ma "xm1 xpw" the nY? is iy the ax and the 1o
can’t be 1°1°T X>X1 Or 7°IX2 712

Second 7P — mawn at .xo 7 and .70 A7

a)

b)

XU
i) o150 M3 APYH 17 WO AT AAT DR 797 XY N2 DX 017

XD

1) X2 RPPIY 12 2nOW 5 ¥ AR M7 DRI 127 IR 101 K2 0727 DX 10M7

X3 — ynw &n from the xo°0

a)

b)

% y2»on 8 to 07 21 that the mp is k11 Xpmw a23p only if X171 Xppw 1% 200 —
because if X211 Xpmw 17 202 isn’t needed for the 17 to be X1 Xpnw a1p — then
it’s ann to be XM &Py am> — and the 70 ought to be applied to be mipn the
M7 2 to the mp>

X270

i) It’s possible that the 12 is X1 Rpnw 72 even Xnnoa without Xpnw 12 and"
"R — S0 that if X kP 17 ans the np1» takes advantage of the min° by
being 71yp also the ny71 2

12



i)

The reason that in the x5°0 the npY7 isn’t N7 M2 7P is that the k90 deals with
where 1% 202 X% and the words "X XpaIw 12 205w 0 ¥ AXR" mean that
although xnnoa counts the same as X1 Xprw 1% ans still the npY? isn’t 721p
the N7 M2 unless there is a 7n° that’s caused by 1% 2n>

4) Twnn of the xmx as explained for o"awn by &7 1"7 nvown and by X"wann

2) o"awn

3)

4)

a) vnw Xn that the xw of the mawn is ¥y»»on the Tvw of *»7 2

i)

i)

If X171 ®pnw 3P Xnnoa it’s a mw ws that the kw1 deals xnnoa because if the
X1 deals ™% anoa2 we’ve established that the P17 is 7332 even M7 Ma and it’s
a 10w 9> that he would be 713p the ax

now
(1) "8mM RPIW 3P XPNDAT TNYT RPDO R

(2) then since the xw~ deals xnnoa and says 237 Nk 121 X2 — it must be that
xnno2a although the np1> is 721p the n°a and the oonow “n 7%vn% 9°IR he’s not
71 the a3 and its npyn of o nov » that stands between the n°a and the 7R
above o nov

(3) and it’s not 1anon that there be this pos:1 in the 1ap

but for >»>7 217 who says that Xm0 Xp»w 71p X7 Ranoa this is no Xwp — because
it follows that in the xw»1 the 251 is 9»w» not only the 3 and its npy» but also
the 97} above the o°nou ™ — and there is no poo:

a) ToRw

i)

How can the x7m3 when it says ""21 73 82n027 Tnv7 Xp70 °R" assume that the
x> deals xnno2 when the mawn says in the x50 "R Xp@w 17 200w °5 Y Ax"

b) nawn

i)

The "5 %y Ax" in the o0 refers only to the x9°0 — it doesn’t apply to the Xw

moon at yrw Xn 7"7

a) 0"awn didn’t need to be wnon that the *o Hv aX in the X9°0 doesn’t apply to the X
— because we’ve already established that if 717 Xanoa the words "anow *s 5y aR"
mean only that x»noa the 17 for X &pnw is the same as if an>

moon at °x7 "7

a) For >»7 27 it must also be that the xw»n deals xnnoa because if the xwn deals
17 ana2 the ®wp of wapa pooi7 would apply also to *»°7 21 — namely — since the
Xw1 deals 9 an22 and says a1 nX 721 X7 — it must be that — although as a result of
17 an> the Y7 is 7P the n°2 and the o°nowv “n %917 IR — still he’s not 1P the
and its npyn of o°nov » that stands between the n°a and the 2m& above oonov »

b) and it’s not 1anon that there be this pos:1 in the 11p

13



c) and in fact —it’s in order that there not be a Pip2 poo:7 for *n>7 27 if 1% an> — that
o"awn explained earlier for *»°7 21 that if 12 an> the npY? is nnp the xx as well as
2oV 1 79YN? MIN2 Na°

5) x"waan

a) For o"awn to say for >n>7 27 that the w1 of the mawn doesn’t deal with 1% an> —
0"aw" needs to rely on his y17°n that the ™ 2now *5 Sy ax" in the Xo°0 doesn’t
apply to the xw1 — since *»>7 27 who holds n3p X? X»n0a can’t use the 72nn that
"5 anow °5 By AR" means only that x»noa the 17 for X1 &pnw is the same as if
1% 2n>

.10 Q7T
IN7 XX n"TDn"awvwn

TIVROR 32997 200 R KT 1D 2R IRD RPN 772 2" awaea [2 Ty 70 7]
RPITT R''57 5799 920 KD ORT XD 57 2109mD TUROR K0P "% RRNRT "M 9oy "
TORIR APIDT RAYT N2T PN D MOR ARIR MIYY 2''D KW N2 NovMT Nniyua
TRY DA DR WA AW MIPY R RWNT NIYY DaAR DINT RNYT N2 XD

TP'TY 2WH Y RMR ¥ 9207 TR RS0 T JOPIRRWK 99 N7 10 v iRy

1) xma
a) np1onn of 1127 ’pY

i) R2PY 1 'R X220
2% 77 AP0 M T PR | MTI ML T ApYY om TR N2 701 — XYM — 'R mwn
mn m7 M2

2% 77 IR0 AR TR PR 12 701 — 890 — 'R Mwn
m mm

M7 N2° A7 AP I T

b) It’s nanon that X2°py " and 71127 are p2In on whether 15w 79° 1°v2 92w or 1°v2 700
piilalriia)

"1 X72v
"2 "on — KW — 'R mwn

7129 R2PY M

7922 777 APYH 01 TR PR
7Y PYa 0WmT own MM
geila

M7 ML A7 AP0 oM TR
DI 7D PY2 I0MT DWn

M7 M2 e

mT ML 777 %L np? R
DA Y7 PPYA DT DR

M2Y 777 00 [P T PR
797 YA 0MT W MM

M2 701 — XOD — 'R MIWH
mm

D

C) Xwp

1) it’s possible that X2°py " and 1127 both hold that 22w 115° va 92w or that 20m
797 7v7 Pya and their NP9 in the X is that

(1) x2°py "1 says a no>17 naww favors the n1> who bought the n°a: “I don’t want
the 25 to be o7 my n°a on his 797 to his M7 M2~

(2) While 71121 say a 72 o nayw favors the 121 who was 2»wn the 12
m: “T must have kept a 797 to my n1m ™12 because otherwise I’d be able
to reach it only by 2"wa nmn"
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i) And that X2°py ' ignores the m1yv by 22 that he needs to avoid 2"x2 m9 —

and 1121 ignore the mavv by npY? that he wants to avoid n°212 15 no*7

7127

R2PY 1

'3 X2v

2% 777 APPR M IR PR
TI0 ROW ¥ MTMN
12 NDIR KDY — INR2 MY

YA IR 997 719 Y2 9 19K
19 NDIR RY oM — 00 v
01717 RPW X7 AP NIy

n"30m

M7 ML A7 AP0 0w R
9912 O ROV 77X 0T
9517 19X 17 NOIR K71 — a3
Y7 Y2 IR 0 197 YA
NIYD 12 NDR K oM — 00
TIR2 MDY 0% XOW 91N

n"7on — XYM — 'R TN
mT M2

d) yrrn

i) consider the x9°0 where the 1o sold the ny71 712 and kept the n»a

727

X2y "

'R Xav

7922 777 APYH 01 TR PR
mn

M7 M2% 777 777 79I T

n™99n — RYM - 'R mwn
M7 M2 e

92 N7 APYe npb TN
mmn

2% 77 AP AR TR PR
mn

912 0% — RDOO — 'R MW
Fahia!

i) now

(1) x2°py " says the np1? needn’t buy nN17% 717 SO it must be X2°py ' isn’t w>n
for 707 N

(2) 7327 say n1? needs to buy a ny7 2% 777 so it must be that 7127 aren’t W n
for 9”R2a 7D Ny

iii) so it must be that both in the xw>3 and the xo°0 the np1%nn depends on whether
9217 1397 1°¥2 1911 Or 101 Y1 PYa as we proposed earlier in the second table

7127

R2PY

'3 XD

2% 777 PR 10m TIR PR
Y7 7Y 0MT W MM
D

M7 2% 7 AP oM R
DI 71D PY2 oM DWn

n" on — XYM — 'R TN
m7 M2

mT ML 777 % e R
D1 AV PYA INT oW

2% 777 IR AR TR PR
79° Y2 10mMT W MM
peila)

12 701 — X590 — 'R Mwn
mmn

e) Nwp
i) maybe both x2°py "1 and o°non are w*n for 79°77 navw and for 9782 79 WY

il) but where the mayv are ano each other

(1) x2°py " follows np1? nyT to prefer his mwvw

(2) 1221 follow "o ny7 to prefer his nivw

iii) but where neither mvw applies 2°py " and 1327 can agree and say either 201

A2 7192 PPV Or 70 A¥A 1PYa 0N
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7127

R2PY M

'7 X720

27 777 AR M X PR
01T RPW X P97 M
M9 XOW X7 791 22

—70% NYT N2 19T IR
517 1327 9590 ’abya Har
T0M *237 R2°PY " nwewa
12 0% IR N2 7190 Y2
ey

M7 2% 717 Ap°h M R
N2 01T XWX 11T
97R2 7797 ROW X1 09
9aR — 172 NYT N2 00T
MY R2PY 7 912 RnDya
907 I 21 7397 1Y 10m

o1 v PYa

N°2 T0n — KXY — 'R TIwn
mTY M2 U

mT ML 777 P e R

2% 77 IR0 AR TR PR

12 701 — X590 — 'R Mwn

) v

IR 19 ROW 73¥17 P17 19’ RoW 731 197 M mmn
22 017 ROW 787 1) 0I97° ROW 77X 1017 IR
SAR — M NYVT NP | — 0L YT N2 191X 1022
NYWa H1mMY 13271990 Xnhya R2°PY " 710 Rabva Dar
79 PY2 M A RPY M | IR 1M A9 1Y 01 b
D1 YT PY2R 7912 R 0! D1 AV PYA N
i) Consider the mawn on 77w "0mM at .Xy 77
1127 R2PY 9 o
7922 717 AR M TR PR | N3 MAY 777 AP0 M IR 7T 01 — RWM — "2 mwn
o Ny M N

Y M2 777 ARt AP X

M2Y 777 0O [P TR PR
nn

N3 M2 01 — KO0 — "2 AW

i) why do we need the xw> of the miwn of 77w "5 — we already know from the
mwn of n°a nX owan that — where the niayv of 10°77 and 2"k ano are AN
each other — x2°py ' and 1121 are p2inn whether to follow 1Y% ny7 or 201 Ny

iii) must be that the xwn of the 7awn of 77w 157 teaches by 7> that the npyonn
has nothing to do with favoring 70°77 nivw or 9"K8a n°79 naww and that in all
cases the npyonn is based on whether 751 7797 1992 951 Or 1212 7Y Pya 0m

g) Xwp

i) Maybe the following table "1 is correct — and the xw™ of the awn of 77w "5
is needed to that the mvv of no°17 applies to 77w even though xnmwax applies
only to n°a — and the mawn of n°2 7017 is needed to teach that 7017 applies to
n°a even though xwn7 7% nwp applies only for n7w
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7127

R2PY M

" R920

2% 777 PR 0m TR PR
01T RPW X P97 M
N7 RNWNIE 2wn N°2a
ROW 77817 1011 RRNT X207
YT N2 1°91RY MR D
7127 9927 ROy AR — 0
O 7197 PYA oM MM

M7 2% 717 AP°R 0m R
N2 01T XWX 11T
R2OHT QAT RPN 2WN
7197 ROW 77317 100 RwNT
— 1P NYT N2 1991RY MNA
R2OPY "7 912° Rnoya Dar

IR 2% 7197 YA NI Y
DN YT YA oM

N°2 T0n — KXY — 'R TIwn
mTY M2 U

mT ML 777 %t e R
IR 19 ROW 73¥17 P17
22 017 KOW 787 1)
5aR — 721 NYT N2 30T

NYWa H1omY 13279920 Xnhya
7197 PV 7917 "% RPY
D1 YT PY2 912 R 0!

2% 77 IR0 AR TR PR
19’ RoW 731 197 M
0I97° ROW 77X 1017 1IN
— P12 NYT N2 1791 D022
R2°PY " 710 Rabva Dar

IX 217 7197 PY2 oW NS
D1 AV PYA N

712 701 — X9D — 'R IWn
mmn

2% 777 AP°R 1 IR PR
017 KOV X APIPT NN
R2OHT QAT RWNT 2Wn 77w2
D% ROW %17 70121 RN
— 723 NYT N2 19T MRA
517 1320 7997 Xabva Har
75M 7237 RPY 1 nwewa
12 90% IR 21 71D Y2
DM Y

N3 M2Y 7T ARYh oM R
77w 01T KOW 7 17T
RDY9T QX7 RWNT 2w

9% ROW %17 7011 KPR
— 1P NVT N2 1399TRY MNA
R2OPY "7 912 RnYya AR

IX 217 7197 PY2 oW N
D1 AV PYA N

STW 00 — KW — "2 Twn
nx M

h) xwp

i) But why is the xo°0 of the mawn of 77w 2own needed if not to teach by 1in»
that the n12nn has nothing to do with favoring 779°97 navv or 9°1R2 775 NIWY —
and that in all cases the npyonn of x2°py " and 7127 is based on whether o1
9237 119° PPYA OF 21 Y7 1Y DM

=) X2PY " T X720
2% 717 AR DM TR PR | N3 MY 71T AP0 oM PR 7T 0n — XKW — "2 mwn
o Ny M2
NN M2 7 AR AP TR | Mab 1T AR AP TR PN M2 0 — KD — ' mwn
o n»
2) o"awn
a) Xwp

i) Maybe — the same as the xw>n of the 7awn of 77w 205w teaches for x2°py ' that
TTWL RWNT Awp supports a maww of 70277 by the np1? although n7wa there is no
wwn for kxmyo1x — the xo°0 of the mawn of 77w 010 teaches for 1321 that nwp
TTWH RwNT supports a mwwv of 70°77 by 151 although 7wa there is no wwn for
RNWI¥

3) X"wonn
a) Xwp
i) o"awn could have asked this x°wp

(1) Maybe for x2°py '3 the x9°0 of the 72wn of 77w 9517 is needed because
otherwise | might have said that
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(a) xmy1x7 0771 navw for N2 is a weak mavw in favor of the 1o in the xo°0
of the 71wn of n°2 7017 and that’s why X2°py "1 goes npY? ny7 2na and
his 71vv of 972 717779 so that the 12 needn’t be 777 [p*>

(b) But xwn77 0772 NIy is a strong navv in favor of the 751 in the ko0 of
the mawn of 77wn nX 7217 and that’s why X2°py 1 goes 15 ny7 N2
and ignores the 7”82 nn0 nivw of 1> so that the 1> needs to be
77 IR

(2) And that’s why the x9°0 of the 7awn of 77w 9217 is needed to teach that
the Y doesn’t need to be 777 1P

DN X7 "1™

Q™A DR R AR2 BRI ORBR MIRaR PRY D 0% KD 772 0w [R TRy o 0T
DR XYY TN DR KD 390737 a0 RAp ROTIAT 2R 2oy "D 77 R UERT 0
TIT 397 WIS 7R KT 3190 R'A7 20 IR uR ORBR 1T XOWR XY N0 2o
VPIT T2 ATD ROWP RP 9277 RO T2 ROK 09D K97 29927 O8N ¥pl P''NT 29NN
DR KDY 29 010019 57 XD 1772 3990 RN 07 K97 237901 710 onRa ' Xnvaaa

P'ITY 07 ROT TR R DR RI72T 0n KRDT X7 »''DT7 20

1) nmoon

a) First X073 in the mwn

fakiieil) faXaie) BV hfy N7 DX 0N
Mon XY 070 XY mwn
2N K? 07 XY RN™I27 Xnp RN
Mo R 101 R RN™27 TYHR M

b) xo-a of "0737 000" in the mawn

) o°7°31 1N a7 IR 0Ma
701 XY pia) mwn
701 XY 101 XY RN™M27 XapP RID
2N XY Mon RN™M27 UYHR

C) X°Wp to 07171090

i) Why does the xnp xin of the xn»92 need to say that o°r9 isn’t 7121 since even
TTY°9K " who says 2°°7°21 "IN are 71on agrees that o°me isn’t 0%

2) R"wann
a) Nwp

i) why doesn’t maoin ask a similar x*wp for the first X072 in the m1wn that holds
that neither o>3°21 70 nor a°m™ is 719n for Ty HR "

b) yn

i) thereis no x>wp for 'x X072 because a &in in a &n>»12 often lists items with
which his "na%s 72 agrees

ii) but there is this x>wp for oo w»
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(1) once 213°9x ' disagrees with the &»p X1 on 0°7°> 7n and says that they
are 7on — but still says that o°r»= aren’t 217

(2) Then it should have been enough for xnp Xin to say that o>3°51 7N aren’t
7191 and we’d understand that &»p xin certainly holds that a°m° aren’t 2197

N0 Q7T
MY NN

MM 01 AR DaR "D 2RI MR RPITY "D IR MR 772 [2 Ty o nT]
TIDW MMVRT MD 1TP RO R DO "2 RO R''D mIpna 920 v arR "o ypap
TND RS 7TIPNR2 925 PRI IVRY 7ownT 'Y mMpnb ppapn) ppapb Men Yoo
oA O"Y T9ID2T 19T 907 YRARK RY MIPRT D00 MR MIPRT IR Y0IDT RI1wHT
NOWRMY 10D 1WA MIT2DY IPPIR IO NI N7 21nnh B 0K 97 RIVT N7 0l
TAPS 2"AwNT 2D T2 R MPRT NSRS WD PR mav wap mpnn

T Ry Poyawa

Vo NXIn M atTn

N9 K91 2" "2 BN NP2 WaTH Dapn M1 INMEIY PIDDY "D PRhps KT T 772
N1 92N 777 9002 KDT "ART KPR D110 3200 BYa waTT 2' awnns 2 amms e
NDT RIAIT DIYDT ANRIN DA 57T 10707 7790057 "D RITD 20 TANRTD TR M Oya
WA WD KD 17 217 RIT NINT 23 DY AR 2R DD 20WN KPT TNIN 2w
7' DRI 2R RAT TIN DT YD NMIDOINT 12N0R R ARDY 1770% NN DR N2mn
ST 2R INMIY D2 WORT ROTT NTND MAD MAT 1M W RDT 2N RNHY
DD DY NN 2977 T R AT 2T B 5D ORT IND TR MR M2 1200

P'TY Nk

1) First an7pn
a) Ypaph N is ypapo T and isn’t aRm™IL 22pn
2) Second nnTpa —on RY A0 at .o a7
a) The first mooini Yva in this 712°7 says that a 7man counts as "
b) X"aw- holds that a 7in is axmw 9apn because the M12°m of 7n to vpap isn’t 2°wn
3) Third mn7pn
a) NRLMT 27 WK NAWA NINN ND 7N
4) Fourth mnpn

a) mwn —the nvw of 21°5% "1 as understood by the X1n& 77 —a 0°727 PMd isn’t
XML 22pn — and "NRLA 210 NAw2 nMOR w17 A"

5) Fifth an7pa — nvoIN — nMD2 wWaT is aRmv 7apn
6) xmain the X1nx 737 as understood by mooin
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a) Xwp by the ywpn

i) 2rvoR ' appears to hold elsewhere that to be ¥y a *%5 in ypap doesn’t make it
count as ypp

ii) yet from this mwn it’s ynwn that 21v°2x " holds that nan> that’s vpap? 1217 by
Vv counts as ¥pp and as a result the nmo isn’t a8 22pn and waT A7
2°°71 AW 7

7) mooin as explained by X"wAmn
a) The X3 could have asked 7°nyu> as follows

i) even if 21y 95X " here says that that n=m> counts as 12 1mn it’s still a X°wp why "™
T1YOHR says that nkvm 2>n nawa P 770

i) After all

(1) "anm 3 no 37N 1S Mo because the no doesn’t count as 12171 even though
the =11n counts as 121

(2) and the same should apply to wa7 7777 — proof is that waT is axnw Hapn
even though the n115 counts as 121nn

8) x"wann
a) noRw
i) How does mooin derive that waT is axmw 22pn
b) nawn

i) 9P va—mooin relies on a &3 from 73°507 X 7517 P15 whose details aren’t
relevant here

i) And to support this nu*w — m»doIn also relies on the 117 to MMINT 11 DO T
nawa that’s Mo — read nwon as if it said

(1) even if 71v°9x '3 here says that that nama counts as ypap the mawn anyway
needs a 7X°2 to explain why 213°%% "1 says that nxvn 221 nawa wPn A7

(2) After all 2107 19 no a7 is s because the no doesn’t count as 721
even though the =10 counts as "2

(3) and by the way the same reasoning should result in nxmw nap for wat
C) IoRw

i) For X"awn in n»oIn — contrast 221m TN that’s AP 22pn because its 20
isn’t 22w with naM> whose 217 is a 73 N2 — doesn’t this destroy the XA
from no 771777 that w27 should also count as wion for the 7 of nawa om0

d) nawn
i) no

ii) For the 17 of 7771 what’s relevant isn’t whether the n=m3 or =71 is 2211 — but
whether the wa7 is 7211 to the n11> and whether the no is 92172 to the 7n
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10 7T

VIYO IXRVYI AT NIDOIN

W2ON RAR D''NT R IR TRNT ORY 12 UMD RN 7772 "0 [R T 10 07
ST INNADM TR MARPT 77010 DIWDTR 30 WISNT KD ORBR PRI W ROy "o "'
ST TRWNT D' NT TRNT T OONY AU R DUon MI0n Jnewn w7 "D N

2("12) B 07T RO ONT R RO

NA'NYUT 7750 n"1n

TR 2R PRIRW 290 Y 29 PR BaR 15 NMIR 7Y 1D T20RWT Dhon 17''7a
1297 7Y RPIT ' AR PN W7 IRD DU FIND JNIT M1A2T XYL Doy 1o Phow
N'"DY 312077 BDIDT MBRT XAV 721772 '52 0" WRD IO MIID M2 1T 'R
RUT77 WHIDW PAYARR 30 D KD 2''aw ¥R 2R MIpn ROPOYR v T ROT 'R
NP7 9''3Y 13572 7IPR MY 2D TR MR NPT RUTT 191 2922 VO MR NN

1P'117Y 12792 BODIY BN A1 DR TIPRT KPR N''MD K72 B''D

100 T
PN "X a"T0"awN

2O I DD RIT KAV ROPIT "2 7R WM 'R 772 2" awnna [2 7Y vo 07
N2AND 2''RT WAR 279257 92 W R M2 DaR wrn Rawv waph X7 Doy "o
R 22 ROR 9577 73928 K97 2D KON 19 99w 017 R RauT 2v%pTn o2 B

IP'TY 2" 2RNDD Rap PPV RDT IRPRY IWT wNRn

1) 1wb of the X

X2 ROPYT OR D90 210 RIT R0 ROPOT OR 13917 R2I7D KOPoT7 022 B9 R
7377 7190 92 R

2) o"awn

a) Nav XP°7 Means even a *11°a Xop>7 that produces at least a 2p of no — if X7
X*179 is X2v we assume that the 121 meant to be 9w only X°195 X227 in order to
be nam1 from his 77w at least "xn719" — and the np17 is nnp all other nu»x as part of
the 77w

b) Xw°a X%>>7 means a xop>7 that produces less than a n17° 2p and is »w1 only for
7%0%p — if 82199 X927 is Rw 2 — we assume that the 121 meant to be 2»>wn the
X°199 ®op>7 and all o°%p7 that are better than X175 85p>7 — because the 221
obviously didn’t keep the bad 7 for its n11°s — and what he must have meant was
that not only am | being 2»wn all 2°111°2 and o°21w— I’m even keeping R°195 R9p7
that’s "3 only for 7x°xp

3) x"wann
a) Another possible 7771
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i) N2v X2p*7 means wnn Xav — if X°199 Xop>7 is "wnn X" the 7om is v wn only
X175 Ko7

i) 1f X199 X9p>7 is *11°2 the 10w is 1 wn that ®2p°7 and nn 22207 93
b) x>7o to this 72n

i) If this 727n is correct the xna should have said that the 101 is 7»wn also 93
phlalaRam)lchi

C) TRW

i) Then for the nvw of o"awn — if X199 X597 is kw2 why do we accept that the
9017 is 7 wn also 1ann 0w %5 even though the X mx doesn’t use the words
"ann oo 0"

d) nawn

i) We’ve explained that in that case there’s a X720 that supports saying the 151
is wn also 1mn o2 92

QT
"7 X011 0" TN

S'RT TMIEP 2ITY 2IPRA2 1M NTIDT 2 IRD 1D 7190 XY 772 '9In [R Ty v T
oAy RITT 2TV 21PN 1A T RDT 2" awDD TR 1R RN RDY B oY 10 1wn IR®
7 YDIRT 71O MR IDT OB NIWNAT IRMT DOT 12 MO PININT WOUT 1D 7ONTRD OPK
BAR 27 2IPAR WA FTNT PNTITT IV T 70 TT KUK WP P70 01 "0 axn
2" ARDR AYUR 2ITY 2IPRA 13 ST RY A1 PR NN20 90T RN 0N wynnd
NP2 779013 AR RT7 DV RTOT 279 21AY 27 TD R1AT 2'Mawnna pnT v T
1Py 11D 9792 TR TR R RDID TR PN IWINT AN A IRT 1M R OR 7D
1) First anpn

a) If a 17 5v2 would have manxa for 'x mavw but is instead 'a 7w o — if '2 7w
counts as a>7y mp»2a the won that he could have been 'k 71wy 191w doesn’t give
naRa to the 17 Hva on his 2 mavw

2) Second 1nTpn

a) if 'x mwv would have minki only with a 732w then — even if 'a 71w doesn’t count
as 07y o1pna — the 197 Hva needs a avaw for '2 mavw to have nmianki by won

3) Third mn7pn

a) A 7pp1who says that a 17 isn’t available because of 02 is yax1 only 7¥1awa
4) Fourth mn7pn

a) ToRw
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i) Ifa7poiacknowledged in a nuw that he accepted a 17po froma 1°pon and is
now 3 that vnarmi - and if he makes a avaw that ynamin the 7po1 would be
supported by a 1 that he would be nyawa yar1 if his m1vw were 10181

ii) Is the mavv by the 7°pon that *va *xn 77°2 770w strong enough to make the won
count as o>y o1pn2

b) nawn

i) The &0 here deals with whether the wn possibly isn’t 2>7v 02 because of
explanations by Tpo1 ("7po1 n2wn") that a 7pon can sometimes delay returning
a "vw when the 7po1 returns the 117po

ii) o°v7w of P51 N2Wwn aren’t relevant here
5) X
a) 7w of a X Xopw of oy 21 and X701 29

% TR WA 1AM DER TPORT RTON 271 DY 27 VI RY2 'R TORW
RA9T IR 7777 A1 KROWS 172°777 103K K P2 KT 10D 110K 1 171 2 N
Y2 ORR 772 T D MK X

" RTOM 27 Y 0K 'R Tawen
"SY2 9K T2 TIW Y XD DY 27 Y NR "2 N
"SY2 RN 3702 TIVW Y MR O¥M oM VIR DK 901" K701 27 7 K 1'a mawen
"Sy2 7YI2W XD 101X 2R 0D M0 710" Y 27 DY MR '3 R
"12W2 7RI TAR1 XD N1 037" RTOT 27 DD MR A mawen
6) o"awn
a) 'R noxw of oy 21 to X70M 2

i) Do you x70m 27 say that — the 7ps1 is believed on yn=rn because 13» he could
have claimed yoix1 and for some reason you &7om 27 say this 1n isn’t 23pna
o7y — or does the i give no ninka because the mavv of *ya 5kn *71°2 70w
makes the > count as o>7v opn2

b) ' nawn of X7om 20
i) "pean" —the Tpo1is e with a won
c) 'aoxw of oy an

1) ¥a°KRn 72 0w N2 X — the 1n ought to be considered o°7y oypna based on
W2 ORD VT TV

7) R"wann
a) xwp to the nvw of o"awn

i) o7y 27in his ') 798w was prepared to accept a decision that the 1o isn’t
0°7v OpPn3

i) why does he in '2 79xw now ask that x7om 21 treat the 1o as o>7v opn2
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8) Twnn of the 7 X2 of o"awn
a) 'anawn of X701 27
1) O¥2ORN 5702 70w 9"R XN 1 W0IRI D MR 0D TAVEN
i) Meaning

(1) In my '& mawn | said the 7ps1 is 1°7n based on 1°n — and the reason this
131 doesn’t count as D>7v DIpn2 is because of "7po1 nawn"

b) Note that this is the first point at which x7or 217 mentions "7p51 n2wn"
9) mpooin as explained by X"wAmn
a) Xwptoo"wn
i) oy 27in his second n%xw already asked that the won is o>y opna
i) And
(1) although it’s true that "aw" explains that X701 27 means to say that it’s
not o>y 0pna wn because of the new concept of "7po1 nawn"
(2) the reference to 7po1 n2wn is 19017 11 7on in the second 72wn
10) qwni of the mx0a of o"awn
a) ' aoxw of oy 21
1) vaayaw oIk 70 710 — S0 how can you believe him without a nyaw
b) 'x n2wn of x70m 20
i) When I said the 7p»o1is believed I meant that he’s believed with a 712w
11) nvw of nmvoIn
a) 'x noxw of oy 2

i) First 7¥ — the 7po1 is believed on 1°"na1nn with a ny1aw based on wn he would
have been believed with a nyaw had he claimed yoix1 — and this 1o isn’t
07y 0Ipna because of 7po1 n2wn

i) Second 7¥ — 751 N2wWwn isn’t strong enough and °va *Rx >7°2 70w still makes
the won count as o7y opna

b) ' nawn of X7om 20
i) "pean"
i) now
(1) x7om 21 actually intends that the 791 is yn°nn because of the wn and the

wn isn’t 0°7y opna because of 701 nawn — and since the ninxa of the Tpo1
depends on a 1»n he needs to make a 112w to support his wn

(2) But oany 21 misunderstands and thinks x7om 27 means that the Tpo1is y2omn
even without a 712w because his ninR1 doesn’t depend on 1on

C) 'an%Rw by oy 2
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i) "vaoRn 72 70w b R — 0y 21 asks this xowp because of his myv

ii) note that oy 21 in this 7271 isn’t asking that the 13> ought to count as opn2
o7y — and this answers the x°wp that &"win asked to o"awa on why a9y 23
in 'a 79)w is suddenly concerned that the o is 07y opn2

d) 'anawn of X701 20

i) "P2ORM T2 70w PR XN M 10IRI DY K 0 TryuN" — you 0y 27 didn’t
understand that when | answered "12°72" | meant he’s 127 with a 1on because
of 7po1 nawn

ii) Note that this nv>w answers the x*wp of mooin to 2"aw nv*w on why the P>y
y17°n of 7p91 n2Wn is 19057 11 on

(1) x701 21 didn’t have to explain 751 n2wn at this point

(2) Because 7po1 n2wn was already implied in the 7% of '} 79%w of oy 2
that the w»n here doesn’t count as >7v op»2 — and X701 27 in his 'k 72wn
meant to accept 751 n2wWn

e) '3 198w of oy 27— *¥2 Anaw 10IRI2 70 MO — meaning the same as for o"awn —
how can you believe him without a nyaw

f) 5 n2wn of X701 27— I in fact meant that he’s believed only with a 7vaw

Y qT
Yawl INXT [Xn 2T NIsoin
RYTI BTN M2XT 9272 10 3 PRI PR X270 "o vawa 7" e [2 Ty v )

THPY 131 NTPE RO WISIT PR NMYIEW PYaw PINBE e oy 1iab myiesw
WK NTATS

XY QT
NiIn 21 X 2N N 7N v T Xlo

My son "1 oman 213°9R " worked with me on all o°p%n of this X°x0

S''R "D TIART 23 DY R NRINT 27 WARP NP N2 RINT 27 WK 772 [N TIAY RY 07
NINT 27 AKRP ORD MIWPRD 57 nwvwsa 2R oY "0 RAPY "D DRI KRR ORR
PY2 DIAT W PPAP 7P MIPOR 'R 3PT 13290 210 70T 0N ORTI RIT N0 23 DY oN
7D TPV 0% KDY YRR T1IPT MITIN IR RR JIPIRWKRY 7790 TURON DY 0% 17DY
TR 25727 2wD W DINT IZNW 1A 2RI 3" anTT W ROV RYT 1)

1) First an7pn
a) Anmaomis »wn and doesn’t sell M7 M2
2) Second nnpn
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3)

4)

5)

6)

7)

8)

a) 1127 say the 7o is 2»wn also a 777 to the N7 712 because 75 7y7 1Py 0m — it
follows that 121 doesn’t need to be 777 Y2 from the P>

b) x2°py ' saysthe 70w isn’t 9wn a 777 to the M7 712 because 75 79° Pya oM — it
follows that the 221 does need to be 977 P> from the P>

Third nn1pa

a) Similarly — because of the np12nn on whether 721 1797 Pva 2w or 7v7 PPvya 1om
791 — where a 7o sells M7y Mma to a mpY» and is 1> wn the n»a

i) For 1121 the 1om is also ny71 2% 717 1w — it follows that the 1> needs to
be 777 P2 from the "om

ii) For x2°py "1 the 75w isn’t M7 2% 777 »wn — it follows that the np1? doesn’t
need to be 777 > from the 1om

Fourth nnTpn — xopa

7129 R2PY M
2% 77 AP DM T PR | MTI ML AT APYY 0w TR M7 M2 ™YY 0% 0N

mn D2 719 Y2 0MT 2Wn

DA YT PPYA DT DN

M7 ML I AR AR X | MY T AR AP X PR M7 M2 0N

D% Y7 PYA 00T awn mmn

01 7197 PY2 0T DWn

Fifth mnpn

a) Ifanp?isnu?x '3 ap he’s "nuoR »772 vpap AR
Sixth ma7pn
a) If npY%is nuoK "2 anp
i) 7337 say that the np17 isn’t "N X >772 ¥pap np" because 1212 v 1Y (00

ii) 0"awn says that x2°py ' holds that the 17 is "nmia%°R 72 vpap nnp" because
901 739 PY2 M

iii) >"1 says that x2°py " holds that the P12 isn’t "nu%R 772 ypp Ap"
elab
a) X172

1) ¥pIp 1% w2 17197 NIPOR 2w YRR on

ii) This 17 applies for 1127 even though they hold that 5w 702 nu% X 1w anpn
YRR 1P XD 12N

iii) And the 17 applies for 82°py ™ even though x2°py " holds for n»am nx o1
M7 M2 7w that 701 139° Pya om and the 121 needs to be 717 P

mooIN at X117 27 MR "7 0N XY A7
a) Xwptoo"wn

i) Since X171 27 says his 177 that N9 K *7772 ¥pp 7w 0w is a witn for 1121
because they hold that "n1u%>X >772 ¥ 73p 82 17720 %W N2 NUK 1w 70pn" —
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i)

it’s vawn that the 17 of X137 21 would be no w77 for 13127 had they agreed with
X2°py " according to o"awn that >772 Ypap 73p 17720 S 7IN2 IR 1w AR
Fahhh s

So why is it that &1371 21 says his 17 is a wyon for Xx2°py "y who according to
n"awA in fact holds that ¥pp 73p PR 2 1pn

b) yn

i)

the wy7n for 327 is that 33127 are PP and hold that ypap map NP ' npn but
NUPK "2 Anpn isn’t ¥pap anp— so it must be that — although 1127 hold for 12
m that 72w 7v1 1va 10w — their avw for n°x has nothing to do with 1om
101 v pya and instead is based on a rule that ypap follows nu%°x only where
there are at least three m12°x — and that’s why it’s a w171 for 7127 to hold that
NU2°R 20772 Ypp W 0M

but if 13127 weren’t p%nn and had agreed with x2°py ' according to o"awA that a
nP17 is ypap anp whether he buys three nir»°x or less than three nu?x — since
13127 don’t hold 15w 7193 Pya 15w for M7 M2 it would have to be that the 17 for
7127 is based on a rule that in all cases ypap follows miox for the benefit of a
n1? and it’s a 19w 22 (not a wi7°n) that they agree with X177 21 that 9w qom
nuIYK >772 ¥pp — the basis of the 10w %5 is explained by &»°% 77 nwoIN ON

'2 Ty — namely that 1°R P12 22K OWwWn 7X1 RIAW 7191 01 317 XY 70 0m"
"5 N77 A% DINAW 7 RIR X XY 72 0P

iii) While for x2°py "y who holds 22 1719° 192 701 the reason why 12 is nnp

9) xX"wonn

ypap whether he buys three ni%°x or less than three n12>x can be based

on 1o 179° 1°va 1o and that in all cases we decide in favor of the np12 —so
there is no 15w %3 to support the 17 of &137 27 in favor of the 25 that 2w 25
NIk °772 ¥pp — and the 127 of X171 27 is a win for X2opy

a) Xowp

i)

mooin could also have asked this &wp — why does X117 27 say it’s a w17°n that
1127 follow his v w 772 ¥pp 73p X2 NUP°KR "2 7IpW P17 7320 TIAKT 23 9 AR
"ni1%°x when the wyon of X117 21 for 7127 would have been greater if 7121 had
agreed with x2°py "1 that ¥ypap 71 NI°K "2 Inpn because we’d assume that for
NIk they agree with &2°py ' that 95w 1715° 1°v2 92w and were in not for k1177 29
we’d have said that 721 isn’t DX 772 YpPIp oW

And msoin could then have answered the same y1°n that moon brings for its
Xwp — namely that we wouldn’t have assumed that 7127 agree with Xx2°py "
that 72w 119° 1°va 70w and we’d instead have assumed that the 177 for j3127is
based on a rule that in all cases vpp follows nua>>x for the benefit of a np>
and it’s a 19w 93 (not a wh7n) that they agree with 17 27 that vpap 9»w om
NI?R >7n2

27



NN'X OXT "1 0"awn 2 7N vy YT K20

5oy 12 M PR NN PP DA "D RMN AT 772 2''awnsa [2 TRy RY 07]
IR KD NIDOR PP 12200 SaR 2''awnnb IR a1 NMIRR 2 npiba ORTY R2MY B
STIT ORT 11D PATT WONK TOaYT "1 RMR ART 7702 R RDT 97 0D YRR PP
P95 1720 5% YT YA 33209 1R NORT 23 DY R YRnP IR 0T RADY ONRT 02 TR

TR'ITY 0% TR0 PYR TR NORT 23 DY ON RRAYY ORIR Ypap 70 vy

1) x7maat :xy a7 at the beginning of "2 7y — "712°k MpY" - as explained by o"awA
a) Nwp to X172

i)  Why would x2°py "1 who holds in favor of np1% that 12w 79> w2 70w agree
with 81377 27 in favor of 151 that MI%°KR °772 YPpp W "0m

b) yynaccording to o"awA

i) a"omwho is nu2X 2 wn intends to be 1w the nux for "o Ho 7Me>" and
to plant new n1%°x once the initial n117°x are wa»ni

ii) and the 1ow realizes that — unless he’s ypap 7»wn — then when the initial nux
are wa»ni the npy> will tell him "2°1 9pw 739°R MMpy" — and that’s why we
assume that the 151 was ypap »wn

iii) "9ax" — but a np1> of nu>x possibly intends to buy the nu%°x only for the mo
they produce until the 12°X is wa»n

2) R"waan

a) 0"awA can’t mean 121 ax for X2°py " since ®2°py M according to o"awn holds
VPP Ip MIPKR 2 npn

b) Instead o"awn says 121 %ax for 1327 who hold ypap nnp 8% ik '2 nnpn and this is
what o"2w1 means:

i) if we were >7770 7138 that a np1? of n1?°X "2 is nnp the nMaox for oo 5 7N
then 1127 would say vpap m3p nur '2 7P even though they hold 1y om
7912 7y for M7 112 on

ii) the same as &2°py "y who based on 0°»°77 93 T8% says 1w MUK 2 WY 0m
ypap even though x2°py " otherwise holds o1 19 Pya 951w where m71 M2 701

"7 xn7 2"TN A PNy e X0
'35 937 9557 MIMY TIW KD AR 928 Bar 10 'k aRa1 2"y "o R XY 1772 'oIn
TH'RY AN TR KD 1AAT 7D Y 29 RODOR 1T T MITY M2 T Py By

1) nww of *" at :xy 77 on why X137 21 says 82°py "y would agree in favor of 10w that
NIY°R 2772 Ypp W 10m even though x2°py " holds 1512 139° Py 79m — and on why
X2°py "3 says for > that n%K 2 7P isn’t NIPR 172 Ypp AR

a) "M
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i) A 95mwho’s 7wn an 12°k and a n? who’s a1 an 12°x both are ypap nnp for
12°K np°1 at least until the 19°X) is w2 n1 because otherwise — since the 17°R is
XYIR woron — the m7wna Sya would say "2°n 9pw 732°R py" even before the 19°)
IS wa»nl

ii) But the difference between a 121 who’s 7»wn and a 1?2 who’s 7237 is that

(1) For a 7o who’s ypap 97wn there’s a 1a°n that since he’s ypap 7»wn to
avoid an immediate 71vv of 719°% 7Py he’s also 7»>wn additional vpap"
"W2NNIWD WMIPHA NN YOI 1R 2220 312 — and it’s this right the X
refers to as vpap 2 v

(2) But for a n1? who buys nu2>x there is no 13°» to support his having the
additional v1p because it’s the 12w who decides what he wants to sell
and the n1? can only buy what the 15 wants to sell

2) R"waan
a) IoRw

i)  Why for x2°py "y where nym 112 19 is the reverse true: we favor the M np1?
mm and say he doesn’t have to pay for the 777 — and we don’t favor the 121
who’s M7 M2 7w and say he needs pay for a 717

b) nawn

i) Nm M2 aren’t XyIR2 *wnon and 112 has no potential mivw of "2 Mpy" that
would make us assume that the 151 must have intended to make a 2w and
that’s why &2°py " follows his general 7w w in favor of npy? that 79 pya "om
pi)al

ynwn 7971 782 T 270 Yy YT XRAIO

5oy 12 9777 BOD1 IRT PUO0RTD 1127 ORI RN 277 IND ORT YRwn Oyt 7''Ra
2ITN2TY W7 1ApRT RIPORT DD 191 ¥ h PUURORT RNWTT X020 29997 D
ROR 72279 KDY TMDROR P9 K17 297 XNDR PODT 9057 901 120D RO B''RP 11297
TP BR TR ROWP "1 991 ORT 211 1329 RPIT RIT 297 1R nImb waT INnYT

1) First anpn
a) N2 s 1 wn and isn’t MY M2 W
2) Second 1nTpn
a) 1127 hold that a 72w is also 2»wn the n171 M2 7177 because 121 v Pva oM
b) ®2°py " holds that the isn’t 2»wn the n171 2% 777 because 121 179° 1P¥2 00
3) Third mn7pn

a) At the beginning of the x>»0 at .xy 77 the X3 assumes that x2°py ' agrees with
X117 27 in favor of 10w that a 79w is N1%°K °7772 v 7w — and that thisis a vyrn
because X2y "1 holds in favor of a np1? that a N7 12 Wy 2 DM isn’t Pwn
M7 2% 77
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4)

5)

6)

b) it follows that it’s more 12non that a 121 is NIk >772 ¥pap 2w than that a 25w

IS M7 M2 >772 77T wn

Fourth mn7pn — at :xy 77 at the end of '2 Ty the & i says that X117 27 said his 7 only
for 1321 who hold 25 ny9 Pya 7o and the wy7n of X317 27 s that 7121 go so far as to

say that because 121 7v1 Pya the 17 is that 1% 2 nw 977 991 93 — the nmynwn of 51
177 2w 277 isn’t relevant at this point

Fifth n7pi — at the end of the x°x10 at :2v 77 the xvx is poon that X117 29 said his 17
also for x2%py '

mooin as explained by &"wann

a)

b)

Xowp

i) Since 1121 hold that a 20w is 777 7w even for n171 M2 it ought to be a 10w 95
that the 2212 is N1%°R 7772 Ypp W even to the extent of 17% 2 nw 777 °991 %

i) So why is the 7 of X177 27 a wrn for 1327
Possible y17°n to the xwp of mpoin

i) Infact the wyn of X137 27 is 7p va to ®2°py ' — after all the &3 prior to this
point in the x>x0 said that the 1>7 of &1 27 applies also to x2°py M and isa
w7on for R2%py "

i) And besides at the end of the x°x10 on :2v 77 the X713 is P°on that X117 27 agrees
with X2°py "

X27°0 to the possible y1n

i) In fact the x>wp of m»poin applies at the "% 2>nw 1777 °291 °KR" point in the X°x0

at the end of '2 Ty on Xy 77 where the & na says that X117 27 taught his 177
only for 1129

NNYUAT T"NAI IN"'Y9Y ™ A" TN 'n 770 vy Y1wT X120

2957 H''9 5oy "5 KT W7 WIWDON SINBT XDWM 2''NT "1 1IOWDITR 7''7a
SYTT WOTPMR 9D 19 NOR 57 5% PPYA 51T 1190 21wk "D J1aph 95T KN30
SIT 397 1% YR DT 110 Y97 5" YT SInmn 9357 90 LIWDN TINN 1D 190 Y

H"PY0m B RD R INID DR JNIT TANRR 1D 1D PV »OTRRa

12 TR 1D 01 R RINT 297 RND2 IND ORT PRRAT 70N 19 7 DY RN 7''N2
SIWAT IRMD 027 3R WPNT PR DoY 12 0% KD J9IR "oRwsT 23 By OX "5 ypap
bY AR YRR 0R ROR PPAP 10 PR 110D NIIDOR AW OWT KT YD MRT '

TP'ITY 2w W TPORY 709X YRR 5% KD IR oRwIT 23

1) First nn7pn — mawn at .xy a7

"7910 DR 11" 7I0n2 RPYY 100
"57910 DR IMI KD 0n2" R1YY 0910
"1 DR WU TR XY WY "7 wIpaa
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2)

3)

4)

5)

6)

7)

8)

9)

The meaning of "1 nX jn1" isn’t relevant to this X"wonn
Second 7pn
a) the mwn doesn’t say whether &2°py " holds "7710 nXk wo1pn"
Third anTpa — 2w 7
a) X727 says for 7on that N>R 772 ypp wn

b) Inthe xn» 1 at Xy 77 - Pwnw " appears to say for wip that >772 vpap wn XY
N>R and that’s why 7701 2107 >772 ¥pap > wn &2 and 1701 211 become wpn
because they’re p1v from wipn n7w

Fourth mn7pn — Xma at :xy 77 at the beginning of 'a 7my
a) X°wpto X172

i) We’ve established that 11w»w " holds that 1701 2190 >772 ¥pp W XD wTpn —
because if the w>7pn is ¥pap wn the 1701 2197 would be 7 woiam P11 meaning
from ypAp that the wopn was 1701 2170 °772 7w — and not from wpi n7w

Fifth nnpn
a) 1o ofthe xama

i) X172 said his 127 only for 71217 — X2°py " holds n12°K >772 ¥pp 1w R
because 221 179> 1P¥2 0m and Nynw ' agrees with X2py '

Sixth 7P

a) X2°py " according to °"1 holds that ¥pp 3P X7 N12°K "2 W AR 122K 7P

b) 7790k A2 NMIPKR B anpn has the same 197 as 7R 19°K 70 and isn’t ¥pp AR
Seventh mn7pn

a) "“797 XN>M2" at .2y A7 — Yppa DR WOTRA R AT R 372 NIPR A wIpn

Xaxat .2y a7

a) The &3 assumes that 1wnw " is the xin of 757 Xn>92 and considers whether
X2py agrees with wnw ' — the x na decides that X2°py ' can’t agree with Pwnw "
because x2°py "y would hold that wips is 779° v2 more than 257 and as a result
would hold that ¥pap X W2 TR7 77 MR 712 DUOR '3 WITPN

moon as explained by R"wAmn
a) X°wp to the x>wp of the Xy summarized in the fourth mn7pn

i) Why doesn’t the X3 at :Xy 77 answer based on its 720 for X2°py " at .2y A7
that it’s because w7pr is more 119° 1va than 25n that 1wnw ' says for wipn that
1701 21717 °772 Ypp Own KD — but Nynw ' for 1o agrees with xm a1 that »w
129K 702 vpp

b) First yy°n of >

i) This 9%an isn’t correct because it would result for Pynw " that wips is
different from 1ann (because we’ve established for 1wnw " that 1ox wipn
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7215 nR wrIpn while for 7913 nx 1 mann) and wps is different also from 1on
on whether ni1%°X *7772 ¥ypp 1w

c) xwp to the first yy1°n of °"
i) Assume that x2°py '3 agrees with wnaw ' for wpn that 7910 nR w7pn 8L

ii) It would result also for x2°py '3 that that wp: is different from mann (because
we’ve established for 7ann that 7912 nx 1) and wips is different also from
727 because Ypapa DR 01 RY 77 AR A12 nUeR 3 191 while for wpn we’ve
established for x2°py " that ¥yppn DR WTP 737 MR 7312 MIPKR 3 WOIP0

d) yyn

i) That’s correct and it must be that X2°py "1 holds for w7pi that 7915 X w>7pn SO
in that respect wps is similar to ninn

e) But " was nn from the first y17°n because 7 v1wsn *n1 PR°INNT 751X 10 ORT"
"R2OPY "D KYT NWwaw

10) X"wnin at 3 woiTa 7"

a) 121 791n 19 orT means if the first yy7on is correct why is there even a X»v3 X9pw at
.2y 77 on whether nwnw ' agrees with x2°py " when for the first y1°n we’re
forced to hold 1wnw '3 disagrees with X2°py ' in the 71wn itself on whether a wpn
IS 7910 NR WIPn

11) qwni of moon
a) Second yrn of "

i) That wpn is more 179> 1ya than 251 can result in the 7 at .2y 77 that s w>Ipn
YPIP WOIPR AT MR 772 NIPK — but isn’t strong enough to result in a 7 at :Xy 77
for w7pn that ypap 9w X% MR 2 1w

b) xwp to the second yyn of >

i) It results from this y11°n that it’s more Qanon that ypap n1p N R '2 nnpa than
that 19°X >772 vpp W

i) Yetit’s ynawn from the X3 at the beginning of the x°x10 at .xy 77 that were it
not for X171 217 we’d say for X2°py ' that although "2 79° va 90m" isn’t
enough to resultina nu>°X "2 1% to be 19°K 7172 ypp nnp (which is the qvw
of >" for x2°py ") it’s enough to hold that for ypap 9w X% N>R nw W

12) R"wAnn at Rnwm 7"R2

a) moown could also ask its xwp to the y1°n of the xma that is summarized in the
fifth an7pn — that in fact x2°py " holds that nia%°X »772 ¥pap 7w RS and at the same
time holds that vypap 71 X7 nuX "2 0pn
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Ay q71
22N T'NAI DM AT PN yag e XIo

W7 T WRn RN 29 W7 70 RWPTIR "D YA mTa 7' [N Ty 2y 07
IND2 2" D DI 77 KD Y001 ORT R RINT 27 IND2T 23 5y AR 5oy "0 ' TR
S PN 3T TR TR PRI RY 2R IARYD WRT JIINRN IS 10 RWIWD K17 29

B DY Do "D M7 23 BY AR 1D DINW 777 KD D1 ORT NOMK O Par 7''Na
29 RNART DR P77 7IUTT RINT 29° "D DORWT 2PV IR MWRT W'TR DOYD PDT K7
BDI19RT 9577 N2 PIORTR "'OINT R AD KDY 2" awND 1D 177 D1 ORT JOPINWRY X1

22177 110 199K AN DITR 1997 190 RNw TR pawn 10 977

1) First an7pn

2)

3)

4)

a)

b)

d)

At .xy 77 the X at first assumed that X117 27 says "vpap >772 DK W' even for
X2y " Who says 121 719° Pya 10m —

At the top of 'a 7wy the & ma asked that w»w ' who says that a w>7pn isn’t »wn
1701 2717 °72 ¥pp (and as a result the 7701 27n become wpn because they’re pav
wpia 77wn) doesn’t agree with X117 29

the xn3 answered that X117 29 didn’t say his 1°7 for X2°py '3 because &2°py "3 holds
that N2 >772 ypap 1w RS because 121 197 Py 72m and wnw " agrees with ™

x2°py also for w>7pn — and that X171 21 said ¥pap 2w nu>°k 7w only for 13127 who
hold that 221 71 va 2om

at the end of 'a 71y the xmx asked that for 7127 it’s a M ws that 772 PR W
vpp —the x7mx answered that X137 21 teaches the xn1a1 that "% 2 nw 977 Y901 )"

Second n7pn

a)

b)

a"awn holds that already in the x2°nx 77 (when the x93 assumed that &7 27 said
his 177 also for x2°py 1) the X mx assumed that ypap 2w means 70w 377 °991 °R7
1172 but until the x1pon the Xmx assumed that the wyon of X117 27 was that x2°py '
agreed with x1177 21 even though X2°py " says 1211 179° 1v2 101

mooin at ®»°7 1"7 holds that the &7 initially held that the ypp 21w of X117 21 was
only 12°k7 nnn 31717 — and that it’s only in the X3pon that the xx adds the vy
that because of the 21w there is also the 17 that 17% 2>nw 7777 5991 %95

Xn»™M20n ™79 at .2y A7

a)

"YPAR WP R 13T MR 772 DIPOR A wrIpa" because wrTpn v Pya

X3 at .2y A7

a)

b)

The xin of the xn>22 0n 75 is Pwrw " —and Pynw " agrees with 7121 that 2o
79w 7 Pya and extends their 127 to apply also to a w>pn

x>wp of the jwpn as understood by o"awA

i) This 9%nn is 791 the y17°n of the Xna at :xy 77 that 1w»w ' agrees with '
X2°py that 121 119° 1Py oM
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c) Twnn of the X mx — xwp to the Jwpn
i) "WIPT ATwR PRI PRI [WHR M MRT &) Rwp RORY"
5) o"awn — a2 of "Rowp XX as explained by moon for o"awn
i) "R 272 W e TR ROWPIR"

i) Why don’t you ask a i7°no for pwnw ' himself without referring to x5 27—
on the one hand nw»aw ' agrees with 7137 that w>7pn v w2 w>7pn in the xn»2
on 75 where he says ypap w*7p X2 a7 0K 71 Nk 3 wpa and on the other
hand he holds even for w7p: that 1701 21917 772 Ypap »wn RS presumably
because he agrees with x2°py ' that 75 119° 12 75 and that this applies also
for wpn

6) X"wannat omTn a7
a) Nwp

i) Why doesn’t the Jwpn explain that he needs to refer to X117 27 to teach that 132
go so far with 101 1y 1y2 99 as to say 1% 2°nw 177 17791 °0 and it’s only
because the 10w is 7w this major n19va that it’s a X'wp why 1wnw ' says 2170
1701 are WIpn nTwn P

b) y1rn

i) For the ywpn to ask his 77°no to wnw " it’s enough that we know that 7127
hold for 127 that the 1212 is ¥pp MXYY »wn to be 19°%7 nnn ¥1715 — because
even this lesser level of 7w is enough to ask why 1wnw " says that 1701 2190
are wWIpa aTwn PRI

7) mooin — v w of X"awn on the 7x2 of "Xowp KHRY"

a) The xwp of the "ywpn" and the x>wp of "xwp XoX1" are in fact one x>wp on the
777 no from pwnw ' to wnw ' — because the 7 no applies only because 1177 27
holds that n1%°x 7»w ypap 7w to the extent that "% % nw 777 *591 937"

b) Because if the 17 were 1777 2°nw 1777 8 *991°3 we could have said that

i) X177 27said ypap 9w Nk 2w both for x2°py " and Pynw M as the X
assumed at the beginning of the x°x10

i) 7wnw " agrees with 1327 that "ow 7y va 92n" and says the same 17 applies
to w>7pn — this explains why he says in 757 Xkn»a that X% DR 3w Ipn
VPR DR WP

iii) the reason that 1wnw ' says wpn a7wn 1R 1701 71 is based on a special
X720 of X"awn that applies only to a 1°x 7w by a w»1pn and only if the 7 is
172 2N 777 8D 07913 — see the words of ®"aw in nmooin for o°vao of this X120

8) X"wonnat Pax 7"Ra
a) Nwp

i) The X3 mentions 1% 2°nw 777 °291 >3 only in the xipon at the end 2 7y on
:Xy 77— and yet the &3 in the X1k 797 (when the xs still assumed that °>
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172 2w 377 X7 °901) asked that the wew of 1wnw ' that 1701 21m are Ppay
WIPT ATwn isa Rowp to X1 20

b) yn

i) Must be that X"aw agrees with 2"awn that the X7mx even in the R°nR M7
understood that X117 27 says ypap 2w N1k 7w also for the purpose of *991 >3
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